IBPS RRB Clerk Prelims 2022 Memory Based Paper

Directions (1-5): In these questions, relationship between different elements is shown in the statements.
The statements are followed by conclusions. Study the conclusions based on the given statements and
select the appropriate answer:

& 9%3})65, DG W0 DG Woeoo DELIVS” BIHGB. DELDD ém&voé 2900 0TILIETPO.

@:‘D()«é DELSL esEBore e‘ﬁc%me)m {00 W, BHAD SEVEATS V)Y JotEod:

(a) If only conclusion I follows.
BT 0 [ BP0 0VBRVOA.

(b) If only conclusion II follows.
BT o [ D@ RVRORR.

(c) If either conclusion I or II follows.
8oy 0 1 o 11 90003008,

(d) If neither conclusion I nor II follows.
8oy 0 1 S 11 92000056,

(e) If both conclusions I and II follow.
[ 20603 11 B0t BT%)Tew 9RVDOF 0.

Q1. Statements/H8Lde: F>R>2T=E>W<Q
Conclusionsléwz,’a"w: I.LE<F
ILQ>T

Q2. Statements/H8LOde: W=6G=2T=C<V<B
Conclusionsléwémw: LW>C
ILLW=T

Q3. Statements/g8Lden: K>1>G>F<T<R
Conclusionsléc"éa"w: .K>R
ILR>G

Q4. Statements/O8OIe: Q>0=2P=K<U<Z
Conclusionsléml,’a'w: I.Z>K
I.Q>U

THE WARRIOR

5. Statements/Hgeden: K<G<D<C>R<Y
Q e AP 245 2022 (51 & *PRJ2 )

Complete Batch
ILK<D 8 'aoeomécs w;S:S 3enthes’

Starts Aug 22, 2022

Conclusionsléw&vw: I.C>G
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Directions (6-10): $o0& EI°) IS 9eS5asd0 Wood 0803 'arf)aé 03) VD DBTG*D0 faéso&.

B@9#C1£28Dn7K5LE%U&F€EMG4!3Z?76X¥P5A06

Q6. Which of the following element is sixth to the left of the eighth element from the right end of the given
arrangement?
“é?r:)')?é 008 GE); G DG 06 DADGD oo ABo0E); DD H00& €36 Srogo Sod TS’ VH?

(a) M
(b) 4
(G
(d)3
(e) None of these\D&eS® D& s°¢

Q7. How many such letters are there in the given series which are immediately preceded by a symbol and
immediately followed by a number?
EANS 363¢5° ) VETRD GET)0W, VWD SEOD D0 DT oRD LB VoD DAE  DoPE

£dAotTo?

(a) Two\Boc

(b) Four\ ~rentd
(c) None\ Q& &co
(d) Three\ oxec

(e) More than four\ TPt S0l L

Q8. If all the letters are dropped in the given series, which element will be eleventh from the right end?
fa:‘,’.)‘)b 363¢5° esx)cl e9 g TP é?oé?oéégané, @ S0rOgo KA VNS A0G DET oI 9HB0A?

(a) 4

(b) %

()&

(d) 5

(e) None of these

DS’ V& ok

Q9. Which of the following element is fourth to the right of the ninth element from the left end of the given
arrangement?
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808 &S ‘az‘b‘)é 2008 WD) 0 QSG ok & QY BD darego Aiws) G DY SPOD durwso AB?
(a)8
(b) K

(c)E
(d) P

(e) L

Q10. How many such symbols are there in the given series which are immediately preceded by a vowel

and immediately followed by a number?
EANS 363¢5° A DFY e E&T") 0, 9D BEED B0 esa.)‘)g 000300 DobdD DY {oogp73$ €083°000?

(a) None\ 28 S

(b) One\ 2,883

(c) Two\ Bocod

(d) Three\ o

(e) More than three\ S05°¢ o3 &)

Directions (11-15): Study the given information carefully and answer the given questions.
‘Qr:)‘)é “‘owwmb‘l 2B ESIak00 BOoS B3 Qﬁ)‘)é FSEAUEVRSN U A T fasssoé,.

Six persons were born on two different dates either 11 or 22 of three different months viz. September,
October and November. F was born on an odd date in the month which has even days. Two persons were
born between Q and F. More than two persons were born between Q and T. R was born before D and after
B.

A SiEHen Durcd HEEH deew Doesd, esgeoS 00030 dH0d oS’ 11 Joe 22 Boco DB 3OS

2o, F e0d:a7d 20 Seren 60) d0&° 52 S6S° ) omrth. Q 20005 F 206) agth dygen ) omedd.
Q 08050 T S0esy AGD S0l LD Hod HyEen 2 owrdd. R ©dT76 D S0l dwocsh odosn B So(s
2y 0T .

Q11. How many persons were born after R?
R &0°(& dodh 008 H5%ren 2y 0tdd?

(a) Two\=agd

(b) One\2.80

(c) None\ Q8 Scd

(d) Three\ 006>

(e) None of these \D&¥eS® A& s°cw

Q12. Who was born on 11th November?
088 110 DB 20867

(@Q
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(b) F
(0D
(d)T
(e) None of these \ D8eS° DG S0

Q13. Which of the following statement is true?
8086 T°0S° DO Javo?

I. More than four persons were born after T

II. Two persons were born between B and D

II1. At least one person was born after F

L. T 80°C8 Senrdth S0 D80 008 H55ren 2J)0e°th

II. B 006030 D mqg fzacgda b5§ou) asb&owcb
I1L F S0 8%00 208 55§ 2J) 0T3P

(a) Both IT and III\ II sv8a3x 1l Socte

(b) Only I\ III soesdo

(c) Both I and II\ I 08050 I1 Socéoe

(d) Only I\ I &oegsdo

(e) AlLL 1T and I\ 1, IT 0805 11T ey

Q14. Who among the following was born in October?
god 70" DG WS’ ) orrtd?

(@A) R

(b) Q
(c)D
(d) Both R and D\ R &06a3» D QD

(e) Both Q and D\ Q 08050 D @€

Q15.___ persons were born after D.
D goeqdd _ 558den Q) om0

(a) One\ 28

(b) Four\ ®enfbd EKALAVYA 2.0
(c) Three\ S Current Affairs MCOQs Batch
(d) Two\ R8> for All Competitive Exams

(e) None of these \D&3eS* D& s°c 28 w0t ageS Fenie’

Starts Aug 24, 2022

Directions (16-18): Study the following information carefully and answer the questions given below:
Sod {omww&’); ST e.oc,szgo:b;éo W0 0803w Sodd fzmsaaé;é Qé;os‘o RATTPO0 %?;550&:
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There are seven members in a family in which two are married couples. S is grandmother of K. B is father-

in-law of A. C is mother of D. ] is brother of K and his mother is D. ] and K are unmarried.
g 6080085 DB roz,a%sw emicb, 90¢3e5° ‘acgcb DaParh 2o, S, wdrd K 03.13525

30) D0 /TOX0Y. B 03T A g Arorrdd. € 93576 D aog), 3. | 0doed K ang) SPecd
00050 e 9 D. | o803 K eodarareioen.

Q16. How is S related to D?
S& D& Jer Doerodo &odd?

(a) Mother\ &9

(b) Sister\ %6

(c) Mother-in-law\ eo&brreH

(d) Grandmother\ esmém&\vémé
(e) None of these\D&eS® D& s°¢d

Q17.How is Crelated to K?
C& K& der 202060 &od?

(a) Mother\ &9

(b) Mother-in-law\ es&brrcH

(c) Paternal grandmother\ TP,

(d) Maternal grandmother\ €90} Y,

(e) Can’t be determined\ dgr8owcio Fcsgo S

Q18. How many female members in the family?
820022085 0BG BTV VIR &) 6d?

(a) Two\ @

(b) Four\ Senrodd

(c) Three\ S

(d) Five\ oo

(e) Can’t be determined \Qgaxocscto Jreygo S

Q19. In the number ‘95273524’, how many pairs of the digits have the same digits between them (both

forward and backward direction) as in the number series?
‘95273524’ 205e’, A 20 oS T Dass (D00C0E BT DEL) 28 Doy woswdy &dA

&otra?

(a) Four\ et
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(b) Two\ Boc

(c) One\ 2.8&

(d) Three\ osec

(e) More than four\ TPt S0l LD

Directions (20-24): Study the following information carefully and answer the questions given below:
Sod {oar’wmbcl el ok e.oc_55cméo BOVOA 083 OHD fabsaoé,é Qé‘)’osg RAIGPO0 fabso&:

Seven people sit around a circular table and they all are facing the center. One person sits between M and
K. N sits 3rd to the left of K. D is neither an immediate neighbour of M nor N. G sits 27d to the right of D. O
sits 2nd to the left of L.

DEDAED DL 2,8 DTS 238 TR EIPEINT*) B 20OKD T°BoBEr SogrdS NBNPOTT &) . 28OS

M 06030 K 206 wéobowm.N VT KS Q&0 3 g*néoé'a SOV D e9d°0 M Jee N &
B8 PAOHOIED 500, G 0dTe DS HADD) 29 ,g»;ooe? %) 0. 0 0D L GBoog), 20D 20 «g"éoesﬁ
EPBON 0P,

Q20. Who sits 4th left of D?
D 8 DR 4 F00S" DD ErdNotrEd?

(A M
(b) K
(@0
(dN
(e) None of these\ DBeS® DSIET S°¢

Q21. What is the position of G with respect to N?
N & Joerodod) G g"éo QAEY?

(a) 3rd to the left\ Q0D 30

RS - el
\‘ 7" hé ’J

TOP 3000 MCQs

(b) 2nd to the right \ 0423 2

(c) 3rd to the right \ &2 3%

(d) Immediate left\ Dotdd DD
(e) None of these\D&3eS® D& e

Discussion Batch

Junior Assistant Gr-11
8 wobrrdS poen Jenivd’
Starts Aug 12, 2022

Q22. How many persons sit between O and M when counted to the left

of M?

M 03.13525 DR Ao ejézjo&é‘@bcz.) 0 d08asw M &3.)6;55 Do ok 355__33&1) Srd)r)oea"d)?

(a) More than four\ Seorbdd Sotl J&)
(b) Three\ Soood>

(c) One\ a8

(d) Two\ R8>
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(e) None \ Q6» S

Q23. Which of the following sits 2nd to the right of K?
808 T70S° DHE> K & LADY 25 Fd0e &) 67

(@) G
(b) O
()M
(d) L
(e) None of these\ D6e5° JHSF s°C

Q24. Which of the following statement is true?
306 T°0S° DA davo?

I. N and O are immediate neighbors
IL. D sits 2nd to the left of O

III. One person sits between L and G
L. N 208030 0 é£60 00T E0

IL D 0935060 08 JesaoDsd) 25 goaoese EPEONT B
IIL 2.8 A§5§ L 08030 G 850@75 Sydabv‘ldo

(a) Both II and 11\ 1T 50605 111 Socs

(b) Only I\ I &oreddo

() Only I1I \ Il o°gao

(d) Both I 'and II\ I 08030 11 Socise

(e) None is true \ 98 davo 500

Q25. Ifitis possible to make a meaningful word with the second, fourth, fifth, and eighth letters of the word
‘ACHIEVED’, then which of the following will be the third letter from the right end of that meaningful word?
If no meaningful word can be made, give X’ as the answer. If more than one meaningful word can be made,

give 'Y’ as the answer.
‘ACHIEVED’ €93 0¢50e5° Bocted, T°90, 65 000500 DG L0°0E 09ghod@dd Dord) 6rFodotsto

3"6{)5@6, & $08 oS’ e.‘)gboé@c‘é D8 HAE DHG ol QES‘) BOPED 9EG0 O? @gboé@d) Do
DEYEED'S, DATTrDdo X' T (1GotSod. 2.8¢) S0l DL D WGHOBRD DIV DBYEIYANS, DArErDo Y ™
(otS0C.

(@) X

(b) I

(Y

(d)D

(e)C
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Directions (26-30): Study the following questions and answer them by referring to the word sequence
given below:
S0 03) L WA R leutlelatiboblolos bl ATa bPN) faéseo&é DG EDoey ArPocdicéo &eqo° TS DAFETLD

“98550&:
LAB FOX SIP BET WET
Q26. When first and third letter of each word is interchanged, then how many meaningful words will be

formed?
oty 65085’ AVEEY SOOI LOTPED 9 LT Xad{obdo woa@bm, (D.‘OQV @gboég_bé HEERD Dcﬁbczwooo?

(a) Three \ Sorcod
(b) One \ 2,56

(c) Two \ Boco

(d) Five \ o6

(e) None \ 96 sv¢%

Q27. If each Consonant is changed to its previous letter and each vowel is changed to its next letter
according to the English alphabetical series, then how many words contain at least one vowel?
OO TP TP RNV LTS HrOyHLANB BB VB WO\ eoff LS 38d YS°Co T BRODO

TS BP0 OB, A DT &0 g 930y DA esotron?
(a) None \ 986 S

(b) More than three\ 03¢ S0 &)

(c) Two \ Bocbo

(d) Three \ o3¢

(e) None of these\D&eS® D& s°¢d

Q28. If words are arranged according to the alphabetical series (as in the English dictionary) from left to
right, which word will be third from the right end?
DT LS 363 PS°Co (esof D005’ DT) & Hod HAES e.‘)b.)d‘)&)& €083, @ Do HAE VIS dod

AOPEIOTT €0e0087?
(a) LAB

(b) SIP

(c) BET

(d) WET

(e) FOX

Adda247 | No. 1 APP for Banking & SSC Preparation
Website: bankersadda.com | sscadda.com | adda247.com | Email: blogger@adda247.com




Q209. If each letter in each word is arranged according to the English alphabetical series from left to right,

then how many meaningful words will be formed?
w8, 0008’ 28 ©LTeD) worf WES 33 SPGo A M0l HES BIONIHANS, V) VGHOSAD DT

:DdbCiU"QD?

(a) Three \ soe¢
(b) One \ 2,88

(c) Four\ seenrd
(d) Two\ Boco

(e) None \ 986 S

Q30. How many letters between 1st letter of 3rd word from right end and 2nd letter of 2nd word from left

end according to the English dictionary?
eg0() DoY) OSG0 HE VDS od 3D DBoS’D 1 WEBG0 BOID G VDG Aol 28 DS D 2

b0 G AN wLT L &) a? (a) Eight\ 206
(b) More than eleven\ 2&€0c So&3 &)

(c) Three\ sooe¢

(d) Four\ et

(e) None of these\D&eS® D& s°¢kd

Directions (31-34): Study the following information carefully and answer the questions given below:
Sod :oarwmb‘l rSelx ol @@50;1;;50 BOVOA 083 OHD @bsao&é Qé‘)’os‘g RATGPO0 f‘abso&:

Seven persons A, B, C, D, E, F and G live in a building of 7 floors but not necessarily in the same order. The
ground floor is numbered as 15t floor, just above floor is numbered as 2 floor and so on till the topmost
floor is numbered as 7t floor.

Less than three persons live above F. One floor gap between E and F who lives above E. G lives just above
B who lives on even numbered floor. The number of floors above D is same as the number of floors below

A. C lives below A.
A, B, C, D, E, F 200050 G @03 A6 H550e0 7 090doe) 30508 JDDR0T) 6 520 8 E008" &0ty

BVG0 S8 @) %0 B OSBRI 185 WOSBRTT, TR P VOBV 25 WSRO, 29e7°(3 2 WO 9o
7 OB VOPIRN RD(LITON.

D000 Sok3 BL) D Hod By F 2 DdVR0T) . E S0 D eaoeézgoeSG QD20 91ES E 08050 F 065§ 208
0B 0G0 HoB. G 2D VDV °6) WO VoRy &) 90293065° DHV0B B o3 oo D Gotrcd. D P&
c—:ég’ 290500 700:;)5 A So& &é‘l e90H0 7008,055) VAP0 &otod. C wdaed A 031)52; 9-9093‘83 Sods
QBIRYOT) &

Q31. How many persons live below G?
G S0t Do 2006 By BV 6?
(a) None\ Q56> S8

(b) Two\ 28>
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(c) Six\ escOL
(d) Four\ Senrbdd
(e) None of these\D&eS® D& e

Q32. Who lives on the 5th floor?
55 R0SRNES” D DDV &o?

(@)D
(b) A
(c)F
(d) G
(e)C

Q33. The number of persons live above B is same as the number of persons live below __.
B 23 dd0t 550 Do Socs DDV B0 DoadyE Do,

(a) E
(b) A
() F
(d)C
(e) None of these\D&eS® D& s°¢kd

Q34. Which of the following statement is true?
806 DS’ DO Javo?

I. F does not live on even floor
IL. E lives above D

IIL. G lives on the 3rd floor

L. F 20208 @oé‘cg.)ée B0

IL E 935760 D 083 23 Q007 6

11 G 0536 3 9080 DDVROT) & AP & TS

(a) Only I\ I Soeggado

TP @"5§

Live Classes, Videos Course, Test Series

For APPSC, TSPSC, SSC, Bank,

(d) Both I1 and I\ II 0605 111 o Railway and other state Exam
12 Months Validity

(b) Only I\ IT soeghdo

(c) Both I and I1\ I s0805 11 Socir

(e) None is true \ & da:o 50
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Q35. If each vowel of the word “QUALITY” is changed to the next letter of the English alphabets and each
consonant is changed to the previous letter of the English alphabet, and then the alphabets thus formed are

arranged in alphabetical order from left to right, which of the following will be fourth from the right end?
"QUALITY" 03 505°d 08 eioyd esoff SEAT0 GIng) SO00 ETedS H0r0ydtond &00akn 98

PR es0ff HEATPL ARVE); ARV VLTS BPONVLIONS, 15D DBYER JFATVRL e Aoct LS VLY
E008" BBIE oo, $o& TR HADRY M0l TYIHG AB?

(@)K

(b) P

(Vv

(d)]

(e) None of these \D&eS* D& soc

Directions (36-39): In each of the questions below, some statements are given followed by some
conclusions. You have to take the given statements to be true even if they seem to be at variance with
commonly known facts. Read all the conclusions and then decide which of the given conclusions logically

follows from the given statements disregarding commonly known facts.
BB &) OB Q%‘)_esé, £y dseden ) ém&r&w BOLLITO. LYol QN DSOS Jreedeaorr 3OS

TRTOE QBB & S:D‘Zao:‘l)cé:)b&é TEY Qe DOriedored. @y éo"&a"e)éo WB3D0G B3N
Ferdeor BDVD TRV Z):o&bor‘l) ‘Qt:)‘)?é DELIL o Teg) Sorr d ém&mom 290 00°eS
K)gooooiéo&.

(a) If only conclusion I follows.\ 8be0 80°) 0 1 PG VOV

(b) If only conclusion II follows.\ S0 ef’ac"&éo I1 55egad0 9000000

(c) If either conclusion I or II follows.\ eféc"&éo [ S 11 002003000

(d) If neither conclusion I nor II follows.\ I Sz 11D ST7 QY 930000

(e) If both conclusions I and II follow.\ T 20805 11 St ST% T RO 00

Q36. Statements: Only a few Grapes are Mango.
No Mango is Banana.

Only a few Banana are Papaya.

Conclusions: I. Some Mango are Papaya.

II. No Mango is Papaya

PsLJIW: EJ) reen Hrgdd SrdG.

QD APAE G SOC.
ED) 68 Jrgdo &5 Jmyow.
éo‘éa"w: LEJY 3PS 8303"30.1).

I1. 9 SDS eS"b*boao ST b

Q37. Statements: Only a few City are Town.
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All Town are Metro.

Conclusions: 1. Some City are Metro.
IL. All City being Town is a possibility.
LD £ ddew drgdo &S

@) R DogFew.
oy ren: 1§ deden ¢’

IL ey 28e0 EPHeD SPHTPIS 9HITFo God.

Q38. Statements: Some Dolphin are Turtle.
All Turtle are Rabbit.

A few Owl are Rabbit.

Conclusions: I. All Dolphin are Owl.

II. Some Dolphin are not Owl.

geLde: E) wdyRo orddzh.

©d) BB LoBW.
£y Mgrireen Dodgo.
Sompren: [ o) &d & rgireen.

1L £y &dya0 Mogrireen s°eo.

Q39. Statements: Only a few River are Mountain.

No Mountain is Concrete.

Some Concrete are not Bricks.

Conclusions: I. Some River are being Concrete is a possibility.
II. All Mountain can be river.

DEOJI: Q) Ioen gl DSTELL.

 DO(Ho SP0gew S
E) SPodtaen RS SU.
Aoy ren: 1 §') Dcoen SPogened SIS eds R0 God.

I1. esbl bdsww Scoen S"éﬁzﬂ)‘).

Q40. Find the odd one out?
D) DT €:0) TP 1Gochdd?

(a) CBF
(b) KM
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(c) POS
(d) VUY
(e) SRV

Q41.1fy2-x2="72 and y - x = 4, then find the value of (x X y)?
y2 - x% =72 H00030 ¥ - X = 4, @008, (X X ¥) Qe 000k ?

(a) 33
(b) 44
(c) 55
(d) 77
(e) 66

Q42. The ratio of length to breadth of a rectangle is 7 : 3 and the perimeter of the rectangle is 40 cm. Find
the area (in cm?) of rectangle?
59)&&6@0 aBoog); P BAsL DeONL B 7 1 3 odasn HYIBIGRo BB wotpEod 40 20.20.

BGSB6R0 @), PTers) (Ro.°S”) SX0FD0d?

(a) 96

(b) 64

(c) 21

(d) 378

(e) 84

Q43. A man invested Rs.1460 in each scheme A and B. If scheme A offers simple interest at 10% p.a. for
five years and scheme B offers simple interest at 10% p.a. for eight years, then find difference between
interest (in Rs.) received from both schemes?

08 &55_% O DGSZo A S0805» BeS® 6°.1460 b%)aoeo& VP, DPSo A DEO VoSBT {oobébo‘nbé 10% ¢

FTPOEr DG Woly O DEEo B IDDBYI N oSS 10% HE Freoes HG oBR08. Tot
DESPR &0l Todd D¢ (6r.08°) Loy OEird) SfFHd?

(a) 438
(b) 428
(c) 408
(d) 448
(e) 418

Q44. A man purchased two articles at same cost price and he sold one article at 18% loss and second at
30% profit. If total profit earned is Rs.210, then find the cost price (in Rs.) of each article?
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28 B8 28 BOL Tocd HRDOI Foffen FF°C O BB 28 DI 18% IS o0k
Cocidmed) 30% erzsod DEowomre. 8odd Ao erzo 6210 wowd, HAB PP ER) Bs (6r.&°)
S0FD0&? (a) 1500

(b) 2000
(c) 2250
(d) 1750
(e) 1250

Q45. A man purchase three different articles A, B & C and cost prices of these articles is Rs.52, Rs.78 and
Rs.108 respectively. If number of each type of article purchase by man is equal and man spends total of
Rs.1190, then find the number of each type of article purchased by the man?

208 O58 A, B & Ce0d 056 DB H0po0 F0Fe0 BFed GBI & HRVDHO GG HERM E°.52, 6o°.78

B08030 6.108. 2092 Ffen B2D VB d€o DR AIE), VO] DT 60G, 0V o C°.1190
DN B, &8 (8 & 0B BRD OB B8 HWD 2050 ST S0k?

(a) 8
(b) 4
(c)6
(d)7
(e) 5

Q46. The ratio of present age of A to that of B is 5 : 4 respectively. Four years hence, age of A will be three

years more than age of B six years hence. Find the present age of B?
A 200030 B g, DS SO0 Q8 DWW 5 1 4. TP DodBYTrY SEOTS, A H0DRVY B esdd

R0DSNT°V S0 AIPED RODBNTPRD L) I €:08000. B AB0E); GRS SO0 S0 dod?
(a) 12 years/ DOOST"eD
(b) 20 years/ Rod&yoren
(c) 16 years/ RoddNTeen
(d) 24 years/ DoOST D
(e) 28 years/ DoOST"eD

Q47. A vessel contains 120 liters mixture of milk and water in the ratio of 5 : 3. If 20 liters milk added in

the vessel, then find the ratio of water to milk in resulting mixture?
w8 FGS" 5 : 3 DinyGS” 120 Beog e 6050 Y Mo Gotwod. FFS” 20 dag oo $O1S, KO

D32006° B e A EFH0d?
(@) 7:15

(b)11:19

(c)8:19
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(d)9:19
(e)7:19

Q48. A car cover 160 km in five hours at the speed of x km/h and same distance cover by another car in 3

hour 20 minutes at the speed of y km/hr. Find the value of (x:y)?
28 50 X 8.20/¢0 Do& DB Hotrg® 160 3 YOIPESROOS O BB GrTeYY 8 52 3 Kot 20

DA’ ¥ 8.0/ 5o Do HOITEIR0B. (X 1 ) DD EMF D0 ?
(@)1:3
(b)2:3
(c)3:4
(d)1:4
(e)6:7

Q49. A boat takes five hours to cover certain distance in upstream and takes two hours to cover the same

distance in downstream. If the speed of the stream is 3 km/hr, then find the distance?
28 DED PI® ADHID DB ArTe) YOITEIoStrAS DD (1oren DEBIOG O VB BIrdo YT

BADL HoIreIo BoHTEAS Toc (otrend DS, VTTo Y, Dfo (oL 3 8.0 eowd, ArTed)
S0 H0E?

(a) 40 km / &

(b) 30 km / &2

(c) 10 km / &

(d) 20 km / &

(e) 60 km / &

Q50. A is 40% more efficient than B. If B takes 6 days more than A to complete a work, then in how many

days ‘A’ alone can complete the whole work?
A 3 B 083 40% D80 R20GH0BR0TE. B 2,8 DA @ BoNEIS A Soé3 6 Feren NEORN DROE0ES,

AT o0 oo DA Ay Ferd® g Badorferd?
(a) 10 days / Baren
(b) 15 days / Seren
(c) 21 days / Seren
(d) 24 days / Seren
(e) 12 days / Baren

Direction / f&er (51-55): What will come in the place of question (?) mark in following number series -
8od Dogry FBS” B (7) G oS D DB ~

Q51.2, 4, 7, 12, 19, 7?
(a) 32
(b) 30
(c) 36
(d) 34
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(e) 40

Q52. 67, 98, 129, 160, ?, 222
(a) 193
(b) 195
(c) 191
(d) 197
(e) 199

Q53. 10, 18, 45, 109, ?, 450

(a) 231

i I
(c) 234

(d) 236 BOOTPEI DI aﬂ=§
(e) 239

Q54.12, 16, 25, 41, ?, 102 80,039+

(z) Zi BUMPER VACANCY
862 MEGA PACK

Ed)) 33 Live Classes, Test Series, eBooks
e

Q55.15, 20, 25, 30, ?, 40
(a) 32
(b) 35
(c) 36
(d) 45
(e) 48

Direction (56-60): Table given below shows total three types (Sunflowers, lilies and Roses) of flowers
used by an event management company in three different months. Read the data carefully and answer the

questions.
QPSP 208 DS DDEI0ES Z00D BT 58563 bvef GDAPAODD Ao DU E5°0 (S"g.)e?domcﬁa

DD, @Qw 003D erden) DD BbD faassea&eb ‘éoégé WIPD0B. RDBTPTEE0N S
BED0E BOAHD YF) VL VATED0 FDLG.

January/
Flowers/ DO February/ %58 | March/ UL
2000
Sunflowers/
68 112 96
T DY
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Lilies/ 3§w 84 64 80

Roses/ ﬁ)U‘GSw 72 88 118

Q56. Total number of sunflowers used in January & March together are what percentage more than total

number of roses used in January & February together?
20D0 & Hr0S” EDAPADD AP TEOACMED 3DDY Vo] BHDO & HYDOS® GHATNODD Do

Do EotS Jod Foho JE) H?
(@) 2.5%

(b) 5%

(c) 1.5%

(d) 4%

(e) 3%

Q57. Find the average number of all three types of flowers used by event management company in March?
53D0¢5 BODED0LS LoD QJ"OQESG GOABITHORD Do S JSPU QYL Doy G, DIV SR H0&?
(a) 91
(b)oo
(c)97
(d)93
(e) 98

Q58. Find the ratio of total number of roses used in January to total number of lilies used in January?
23508° EOMFADD Dwgo (HEFDY Ko 2IBOS’ GOWETrADD Ago PO VoL VA

S0 Hod?
(a)4:3

(b)6:
(c)6:
(d)9:
(e)7:

N A~ N U

Q59. Total number of roses used in March is how much more than total number sunflowers used in

January?
BPONS® SDATNODD BGo WLrdY Vol BHOVOS” EHATNODD TEAGMEL DD Doy Lol Joch

Déozjb?
(a) 90
(b) 80
(c) 50
(d) 40
(e) 60

Q60. Find the total number of sunflowers used in all the given three months?
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DD B¢ VG EDAALAODD Do TEAWMED DL Vo SRFV0d?
(a) 276
(b) 274
(c) 268
(d) 272
(e) 264

Direction (61-65): Line graph shows total quantity (in kg) of five different dry fruits sold by a shop. Read
the data carefully and answer the questions.

APSD: O IO 28 COSTH0 (0> DFOWoS D DB e ey Ao DOJTEFDY (85°S°) ST BV0B.
RBIPTEEoR PESTT L3306 SOBA3D Qé;)'e)éo RAIEP0 '9350&-

90
80
70
60
50
40
30
20
10

0

Almond Cashew Walnut Raisin Pistachio

Q61. If the ratio of dry to wet Walnut & Pistachio sold by shop is 3 : 2 and 5 : 3 respectively, then find
difference (in kg.) between total dry Walnut & Pistachio sold by shop?
COSPER0 TP(T° DEONOL oG BAIL DAY TSHE & DI Y DR 3 : 2 Hdakw 5 : 3 wawd,

COS*EI0 TPO° DEONOD 0o Dot TSHE & Rt 206 555@55"3& (85°S".) SR0F0&?

(a) 6
(b) 5
(c)8
(d) 12
(e) 4

Q62. Find the ratio of total Almond to total Raisin sold by the shop?
0530 TPT° DFO0W G0 ec30 OB DFo JotdTPE. B ST DoC?

(2)3:5
(b)2:5
(c)1:
(d)2:3
(e)1:

w

[\S]
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Q63. If total Apricot sold by shop is 50% more than total Cashew sold by the shop and total dry Apricot
sold by shop is 40% less than total wet Apricot sold by shop, then find total (in kg.) dry Apricot sold by the
shop?

cos°ER0 TPLO° DE0VOTW DG e2ITD (IS0 N DEooW Ao a?;&:o:g)b goé3 50% NEVRN o0 €063

0005 C0S°E08” DEOWOD Do Dotk WRISE CSEI0 DEOWOD Do VDY WPSY Kotd 40% S J
€083, C0B°Ea0 DFAB Do (85°S°) T eV ST D0d?

(a) 45
(b) 36
(c) 40
(d) 30
(e) 60

Q64. Total Almonds & Pistachio sold by shop is what percent more than total Cashew sold by the shop?
COS*ER0 TPT° DFONOL 0G0 ePcso & DI COSEI0 TLT° IFOWL o BEDYY S0t Jodh Fodo JL) S?

(a) 20%
(b) 25%
(c) 24%
(d) 30%
(e) 40%

Q65. Find the difference between total Walnut & Raisin sold by the shop and total Cashew & Pistachio sold
by the shop?
C0B°ER0 TP(T® DEONOL Jdo TSHE & Tra. B3 Ando BEDYY & DI G S SRFdod

(a) 40 kg / &%
(b) 5 kg / 86°en

(c) 30 kg / e
(d) 20 kg / &S°ew
() 10 kg / &S’

Direction (66 - 80): What value should come in place of (?) in the following questions?
go0 935" (7) (g%oéﬁ D Dewd Toed?

Q66. > = v/324 + /256
(a) 20

(b) 5

(c) 10

(d) 15

(e) 25
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Q67. 3 x?72=(5)2+(7)? + (17)?
(a) 12
(b) 13
(c) 10
(d)11
(e) 15

Q68.72=40% of 420 + 44% of 200

(a) 24

(b) 12

(c)8 TEST SERIES

(d) 16 ENGLISH & TELUGU

(e) 416

Q69.2 of 4= of 3-0f 81 =7 APPSC

(a) 2900 GROUP-4

(b) 2500 Jr. Assistant Cum

(c) 2700 Computer Assistant Mains
(d) 2300

(e) 2400 14 Full Length Tests

Q70.v256 x 49 + (16)%2 — V343 = (?)?
(a) 21
(b) 18
(c) 14
(d) 22
(e) 19

Q71.v256 x /169 +3600+ 12 = 800 -?
(a) 312
(b) 280
(c) 292
(d) 324
(e) 296

Q72.37.5x14+800 —(26)2+136 = ?
(a) 785
(b) 800
(c) 810
(d) 825
(e) 765

Adda247 | No. 1 APP for Banking & SSC Preparation
Website: bankersadda.com | sscadda.com | adda247.com | Email: blogger@adda247.com



https://www.adda247.com/product-testseries/15912/appsc-group-4-junior-assistant-mains-online-test-series-in-telugu-and-english-by-adda247

Q73.V12.25 x 18 -(6)* - V4 = (?)?
(a) 7
(b)6
(05
(d) 4
(e) 3

Q74. (1350 + 1625) + (625 + 565) =7
(a) 1.5

(b) 2.5

(91

(d) 2.25

(e) 2.75

Q75.625 = Y64x 6 = 2% of 150
(@) 5

(b) 25

(c) 15

(d) 20

(e) 22.5

Q76.15 x 26 + 310 - (15)2 = 20% of ?
(a) 2375
(b) 1825
(c) 2525
(d) 2150
(e) 1950

Q77.32x /625 + 352 + 150 = (?)?
(a) 50
(b) 45
(c) 35
(d) 30
(e) 40

Q78.62+32-7l=241L
4 5 8 10
3
(@) 15
9
(b) 7
3
()<
5
()2
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(e)>

Q79./80% of (7 +60) = =% of 12

(a) 45
(b) 35
(c) 65
(d) 55
(e) 25

Q80. 250% of 300 - 55x 40 + 2700 = ?
(a) 1050
(b) 1250
(c) 1150
(d) 1350
(e) 1450

TEST SERIES
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